
Two-Digit Addition (I)

33 + 37 = 68 + 33 = 64 + 36 =

98 + 37 = 54 + 95 = 64 + 81 =

77 + 88 = 26 + 80 = 38 + 42 =

85 + 35 = 69 + 92 = 92 + 45 =

65 + 38 = 71 + 90 = 56 + 85 =

94 + 15 = 20 + 26 = 34 + 51 =

17 + 58 = 18 + 59 = 63 + 47 =

21 + 80 = 88 + 75 = 50 + 18 =

18 + 68 = 87 + 54 = 58 + 83 =

61 + 58 = 49 + 45 = 13 + 58 =

44 + 51 = 93 + 24 = 75 + 48 =
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Two-Digit Addition (I) Answers

33 + 37 = 70 68 + 33 = 101 64 + 36 = 100

98 + 37 = 135 54 + 95 = 149 64 + 81 = 145

77 + 88 = 165 26 + 80 = 106 38 + 42 = 80

85 + 35 = 120 69 + 92 = 161 92 + 45 = 137

65 + 38 = 103 71 + 90 = 161 56 + 85 = 141

94 + 15 = 109 20 + 26 = 46 34 + 51 = 85

17 + 58 = 75 18 + 59 = 77 63 + 47 = 110

21 + 80 = 101 88 + 75 = 163 50 + 18 = 68

18 + 68 = 86 87 + 54 = 141 58 + 83 = 141

61 + 58 = 119 49 + 45 = 94 13 + 58 = 71

44 + 51 = 95 93 + 24 = 117 75 + 48 = 123
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